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Arithmetic / Interwst Unit Review

1) What are the following in terms of arithmetic sequences / series:
n= number of ferms th= [ast erm

t:1= -A‘r_sf ferm d= @mmamvdxt#@f@z@

Sn= Sum of arthmeby seres

2) For the following arithmetic sequence, find the 58" term: 120, 114, 108, ...

L, =120 tn= 4 +O-0d o
i(;;é’ Loy = 12045809 @—i@

bep= 120 + (-342)
3) Find the first term of an arithmetic sequence with t:; = 100 and d = 8.

_ S % /“
:}3_&,‘/ trn=4t 0 /)ai {/@

)00 4, + (H-1) (&) .
4y =100 Joo = £, + B0

4) If the first term of an arithmetic sequence is -25, and the last term is 20, with a
common difference of 3, find the number of terms.

Ly =25 Lot rn-0d | 1S =n

n-l
L, = 20 20= 2+ (n-1)(3) n=16)

A= 3 e = 2(n-1)

5) Molly starts with 21 cards and adds 18 baseball cards each month to her
collection. How many cards will she have in 3 years? *Think carefully about what
your ‘n’ value will be.

| v Cdesd s ) d
21,39, 57,75, ... | o
agw A by = 204 (37-1;(}8)
MM%
o 2l b
n=23b+[=23 ‘/;,.f,,...»—-a—\_\\
b= 2l (g bl

A =18



6) Jon is 14 and has a birthday party. Every 3 years after that, up to and including
his 50t birthday, he has another party. How many parties has Jon had in total?

féf;f?;EQ},.g,gﬁ Zél’}‘:fj?'f'(ﬁ"/}ﬁ/ }Z:ﬂ"f

£ =14 5—0:/L/+[nv/)(?) nf’,{f_____\_ﬁ\
= 30 = -] --"'/.IF# r

e )

7) Find the sum of the arithmetic series: -10+-1+ 8 +..... + 80
L =-l0 Jcﬁ{:.*(n*l)al, nefl S, = 5.5(70)
d= 3 | go=-lo+(n0] g :ﬁ(‘{ 1 4n ) m
,éh = 80 57@ . §{¥1w£> , !r \\-‘
need o 0= n-! i+ (H1o180)

8) Find the sum of an arithmetic series that starts at 37, has a common dlfference
of 6andha527terms <. : 13 ¢{7%+/

£,=37 ¢, = 24 +{n- )of_/ e :

d= =6 Z (a7 - 0y,

= 27 1, s \ E e — S

A %Z 2(37) + (274/;(—4)] .
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9) If an arithmetic series has Sy = 175, and t7 = 40, find t..
h=7f -C:”::?H;‘%i’”} s5p=4,t o

Z L/S 175 = 2 {419 | (& =19

[75 =3.5(t 1Y)

10) If an arithmetic serles has a flrst term of 3, and S14 = 406, find d.

L=3  S=2[trb)d] | szeieiad
Y = ;L'!! . h ; s T 2 -J
r A\ 7 { Lo E‘,.J &
Lt = —*— [-"/"\ 4 /tf"'}/;d‘f’f - /_;::;:"*“-
_gfﬁ‘ . Lh% ;Dé ,‘L-[_""LJ‘ E 4 l/ | I_,.._.,; :L;_\)
Lf@é et 7[é 4,{[34\/{ I -\m nnnnn et

11) Find ¥5-,4n — 5
[wn-5] + [wz)-s] + [wen-s] + [4(5)-5]
7 4 $ 1+ 1S

]
@



12) If you started with $17 and then were given $19 after the first minute, then
$21 after the next minute, and this pattern continued, how much would you have

after 30 minutes? ¢, = % [;,g, + (n 'l)d]

17+[4+21+...

4,=17 S3,° 33‘_[:207) +(3I-l)(2ﬂ

n=3%|

1=2 Sy, = 155[34+60] S, = ¥l4s7

13) Calculate the simple interest when $8500 is invested at 4.6% for 7 years.

I’ VrL’
T = (ssvo)(0.016) (7)
L= %2737 *2737

14) Calculate the number of years that $2500 is invested at 6% in order to make
$750 in simple interest.

= /&P
T-rr A
750 = (Z?OD) (0.06)‘6
Tsp = 1504 CY Y ears

15) $5000 is invested at 3.5% for 4 years simple interest. After 4 years, all of that
money is taken and invested at 5% for 6 years simple interest. How much in total

will you have after this? =0t = (5700)@,,05) (6)=17le

T=V0t A g
T-= (Qaaa)[o,mg)(q) = 700 [ofe] = 700 +1710= 7hlo
Jota] = 3000 *700 = 5700 710

16) $3000 is invested for 4 years at compound interest of 7%. How much total
money will you have after 4 years?

A=P(1+0)f
A= 3ooo | +0.07)"
A = 3000 (/|.07)l'

73932.39
A: 2432.%9




17) Micah ends up with $21 522.79 after 7 years of compound interest at 3%.
How much did he originally invest?

/}’P(HF)’L p= */7¢%00

2152279 P(1+.03)"

2152279 = pl1.03)7

20522.79> P(122987 3845) /7 500
18a) Joanie wins $2 000 000 in a lottery. She decides to invest it at 5.5%
compound interest for 5 years. How much will she have in total at that point?

/4” F(/+r)£

= 2000000 (1+0.055)"

N NS
A= 2oooooo (/055) $2¢4)3 910.0]

b) How much more interest will she make with compound interest compared to if
she invested with the same terms at simple interest?

I=#t
J= (Z voov aoa)(o.ps’y)(s)

1 = 550 ovo

Zh//: L0 top + S5 oop = 2 550 000

ol e remce 2613 920.0)
_ 2 58%p DoY.oo 5&43 920.0]

4632 920.0]




